

Peacock Military Academy

"The West Point of Texas"

SAN ANTONIO 1, TEXAS

FINANCIAL

FIXED CHARGE - BOARDING STUDENTS \$1,325.00

Room, Board, Utilities
Tuition, all academic courses
Athletic Instruction
Military Training
Rifle Marksmanship
Use of Government Equipment
Science Laboratory Fees
Library Dues
Athletic Dues (all games played on campus)
Use of School Infirmary
(in case of minor illness or accident)

INCIDENTAL EXPENSES (Estimated) *

Textbooks (approximately)	\$20.00
School Supplies (average \$1 per week)	36.00
Laundry (average \$2.50 per week)	90.00
Cleaning (average \$1 per week)	36.00
Haircuts (average twice monthly)	18.00
Peacock Reversible Day Jacket	18.00
Activity Fee (\$15 per semester)	30.00
Yearbook, The "Kadet"	7.00 \$ 255.00

TOTAL - Boarding Students \$1,580.00

(*) The Activity Fee (Student Affairs) includes admission to all school dances, average of one full length feature moving picture weekly, use of the Academy Swimming Pool, and other social and recreational activities.

All items listed under "Incidental Expenses" above are charged to the cadet's incidental account as received by him during the school year, except the Activity Fee, which is charged \$15.00 at the beginning of each Semester, and the cost of the Yearbook, which is charged on April 1st.

The Fixed Charge of \$1,325.00 is due upon entrance, but convenient terms of payment may be arranged upon request. When full payment is made upon entrance (2% discount allowed) or in two (2) semester payments of \$662.50 each, no interest or added amount is charged.

COST OF UNIFORMS

1 Dress Coat (West Point Gray), with patches	\$ 50.00
2 Pairs Dress Trousers (West Point Gray) @ \$25.00	50.00
1 Dress Cap (West Point Gray with leather visor)	10.00
1 Dress Cap Ornament (Peacock Coat-of-Arms)	1.50
*2 Gray Overseas Caps with Patches @ 3.25	6.50
1 Black Leather Waistbelt with Peacock Buckle	3.50
4 Gray Poplin Shirts with Straps and Patches @ \$5.50	22.00
*2 Black Ties @ \$1.00	2.00
*6 Pairs Khaki Trousers, Shade 1, without cuffs, @ \$6.50	39.00
*6 Khaki Poplin Shirts, Shade 1, with straps, @ \$4.50	27.00
*2 Air Force Blue Web Belts with Nickel Buckle @ 75¢	1.50
1 Pair Paratroop Boots, Black	13.50
2 Pairs Army Green Sateen Fatigue Pants @ \$4.00	8.00
2 Army Green Sateen Fatigue Jackets @ \$4.00	8.00
1 Army Green Sateen "Spring-up" Cap	2.00
2 Peacock Reversible T-Shirts for Intramural Athletics, @ \$2.25	4.50
2 Pairs Peacock Green Athletic Shorts @ 1.50	3.00
1 Cadet Gray Raincoat	12.00
 TOTAL	 \$264.00

(*) Items indicated should be purchased and fitted in advance so that the cadet will be properly dressed in Khaki Day Uniform when he reports to school in September. The khaki pants and shirts (shade 1) may be obtained in any uniform supply house. The West Point Gray uniform items may be obtained only at Frank Brothers Store, Alamo Plaza, San Antonio. A representative from Frank Brothers will be present at the Academy all day, Tuesday, September 5, to fit cadets with their Dress Uniform (Gray) parts and other items listed above which have not been obtained in advance of arrival.

PARADE WHITES. Beginning April 1st, white duck trousers are substituted for the gray trousers for all Full Dress occasions. Each cadet will be issued a full set of "Parade Whites" as follows: 2 pairs white duck trousers, 1 pair white gloves, 1 white cap cover, and 1 white web belt with brass buckle. The cost of these items, which is not included in the uniform outfit listed above, is approximately \$15.00.

SHOES and other items listed separately "What Boarding Students Furnish", should be purchased in advance of arrival. This includes bed linens, socks, underwear, tennis shoes, T-shirts, and similar items brought from home or purchased with the uniform. Each cadet is required to have two pairs of black shoes, low quarter, *plain toe (military style)*. All items should be plainly marked with boy's name.

CHECK LIST — WHAT BOARDING STUDENTS FURNISH

All items should be plainly marked with boy's name

<u>CLOTHING OTHER THAN UNIFORMS</u>	<u>Estimated Cost (*)</u>
2 pairs black shoes, low quarter, <i>plain toe</i>	\$14.95 ea
1 pair tennis shoes, white, high top595
12 pairs black socks, ankle type50 ea
4 pairs heavy socks, athletic type, white75 ea
8 pairs shorts, underwear, any color	1.00 ea
6 "T" shirts, white, quarter sleeve	1.00 ea
12 handkerchiefs, plain white25 ea
3 suits pajamas, inexpensive type	4.00 ea
1 bathrobe, inexpensive type	10.00
1 pair bedroom slippers	3.00
2 sweatshirts, athletic, gray or white	1.75 ea
2 pairs blue jean pants (for recreation)	3.75 ea
2 white shirts, plain collar (for wear on dress occasions)	3.25 ea
1 Marking Pen, Carter's indelible ink29

<u>BLANKETS & LINENS</u>	<u>Estimated Cost (*)</u>
1 Peacock Blanket (dark green, 100% wool)	\$ 6.00
1 blanket, for single bed, any color, 100% wool	6.00
1 pillow, standard size (foam rubber type preferred)	5.00
3 pillow cases, approximately 42x3665 ea
6 sheets, for single bed, white, approximately 63x99	2.50 ea
2 laundry bags, heavy duck	2.25 ea
8 bath towels, approximately 20x4075 ea
4 wash cloths20 ea

(*) Prices listed are approximate, as quoted by Frank Brothers Store, Alamo Plaza, San Antonio, 1 June 1961

MISCELLANEOUS ITEMS

- Toothbrush (2) and dentifrice
- Nail brush, nail file, and nail scissors
- Hair brush and comb
- Sewing kit (black, white and khaki thread)
- Water glass (to keep in room)
- Hair dressing (hair oil)
- Ball point pen (with name thereon), and extra refills
- Shoeshine kit (with neutral and black *paste* only)
- Swim trunks
- Inexpensive wrist watch (optional)
- Portable radio or TV (optional)

Pearcock Military Academy

CALENDAR FOR 1961-1962

Mon	Sept 4	Registration: Old Cadets	9:00 am
Tue	Sept 5	Registration: New Cadets	9:00 am
Wed	Sept 6	Orientation: First day of classes	8:30 am
Fri	Oct 6	Western Dance honoring new cadets	8-11 pm
Sat	Oct 14	End of 1st six-weeks grading period	
Fri	Nov 17	Corps Dance honoring football team	8-11 pm
Wed	Nov 22	End of 2nd six-weeks grading period	
		THANKSGIVING HOLIDAYS BEGIN AT 2:30 pm	
Sun	Nov 26	Thanksgiving Holidays end at 9:00 pm	
Fri	Dec 22	CHRISTMAS VACATION begins at 2:30 pm	
Tue	Jan 2	Christmas Vacation ends at 9:00 pm	
Sat	Jan 13	Mid-term Examinations (9:00-11:00 am)	
Mon	Jan 15	Mid-term Examinations (all day)	
Tue	Jan 16	Mid-term Examinations (all day); End of 1st Semester	
Wed	Jan 17	BEGINNING OF SECOND SEMESTER	8:30 am
Fri	Jan 26	Corps Dance honoring cadet officers	8-11 pm
Sat	Feb 24	End of 4th six-weeks grading period	
Fri	Mar 9	Gymkhana Day — athletic contests between classes	2:30 pm
Fri	Mar 23	SPRING VACATION begins at 2:30 pm	
Sun	Apr 1	Spring Vacation ends at 9:00 pm	
Sun	Apr 8	Ceremonial Dress Parade - Academy Parade Ground	4:30 pm
Sat	Apr 14	End of 5th six-weeks grading period	
Sun	Apr 15	GOVERNMENT INSPECTION DRESS PARADE	4:30 pm
Mon	Apr 16	Government Inspection (continued)	8:30 am
Thr	Apr 19	EASTER WEEKEND begins at 2:30 pm	
Sun	Apr 22	Easter Sunday - Weekend Permits end at 9:00 pm	
Mon	Apr 23	River Pageant - Beginning of "Fiesta Week"	8:00 pm
Thr	Apr 26	Fiesta Dress Parade - Academy Parade Ground	4:30 pm
Fri	Apr 27	Battle of Flowers Parade - Downtown San Antonio	3:00 pm
Sat	Apr 28	Fiesta Flambeau Night Parade - Downtown San Antonio	8:00 pm
Sun	May 13	AWARDS DAY PROGRAM - Academy Parade Ground	4:30 pm
Wed	May 16	Seventh-Eighth Grade Swim Meet	3:00 pm
Fri	May 18	Junior-Senior Dinner Dance (beginning of Senior Week)	7-11 pm
Mon	May 21	Beginning of Final Examinations	
Thr	May 24	Graduation Parade - Academy Parade Ground	5:00 pm
		Garden Party Dance honoring parents of cadets	8-11 pm
Fri	May 25	Closing Exercises - 68th Annual Commencement	9:30 am